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PAPER I
1 Select the correct Statement(s) in relation to individual differences.

Statement (I)Individuals differ in their aptitude.
Statement (IT)There exists a wide difference in motor abilities such as reacting time and speed of action among individuals.
Choose the correct.

SHeoflwmeT GeumiLImB&6T QG TLTLITeT &FFWITET Sodmi(SHenen)sd CHIHOSH & &6 LD.

Famml I- Heofl BLITSHET SBIGET BT LS5 60 CeumiiGSmTIgser.

Famml II: Heofl BLTEHEHEHG6T QFWeLIBHILD GBI MMID QF LGS CUMETm 2 Ledlwses Hmersefley LiFnhg Geumiim@
2 6iTengl.

Fflwmarenss CHIHOSMH &&HaD.

A: Both Statement (T) and Statement (IT) are correct.

Fam I LDMHMID S MM I @ TevoT(HILD &Il MTeoTemal
B : Both Statement (I) and Statement (II) are incorrect.

FnHMI 1 LDHMID FonMMI 11 @ TevoT(HILD &6UMTETEm6
C: Statement (I) is correct but Statement (II) is incorrect.

Famm 1 FWLIMTETS SL6TMEV Ga MM 11 &6)MITETSI.
D: Statement (I) is incorrect but Statement (II) is correct.

FnMM 1 HEUMITETS S,60TT6V G MM 1T FiflulmeuTss!.

2 A teacher assessing how well a student handles geometrical instruments or operates a machine while doing a task is an example of
) AW, IDTesoTalf (I Lietoflen i Q&F WG edrm CLIMS, aulgauemlILIu6h &heilgemnerT eTelelmmi Gmasu_lrr@ﬁ@)mrrcr
SIVVE! R(H QUIBHTHMS eTeUeUTM @UWISHGSHMTY 6TTLNS HeuofIILg M@ 2 SHTeorid.

A Check list
Frlumily Ul iguey
B: Sociometry
Fens lerailwley
C: Written tests
WS35 CB e
D: Performance tests
QF WS MET C&F TS 6m 60T
3 One of the aims of secondary education commission is to develop skills among students.
@ LBlen6vd &6vall 2y,60)600T LIS B 60T GIBITE: & MG 6r160 6260TMI LOMEtoT6U 85 61flet LG LU FM6TSH 606 GUETTLILISTESLD.
A Social
Fens
B: Cognitive
SIS medr
C: Critical thinking
FMeTITILI6 FIb & 6t 6T
D: Vocational
Qamiflev (emm

4 Insight learning was proposed by :

2 Lam & adlsmmey b0 IMWSLILRSSLILLLSI.
A': Bruner

LJer6ooT [f
B: Kolb

G&meuLl

C: Wolfgang Kohler
a,608& 6N G manlevy
D: Maslow

L0merv@euim
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5 Four statements regarding the types of research are given below
(a) In social science Research, the term "Expost facto research' refers to descriptive research studies.
(b) Applied research aims at finding a solution for an immediate problem facing a society
(c) Empirical Research is data based research and its results can be verified by observation or experiment.
(d) The researcher has to use facts or information already available to make a critical evaluation of the material in fundamental research.
Select the correct statements.
UTTUFR QUM&EHE6T QSITLITLITET BT6TES 2AM&Hen&H&H6T ECLD Q& M(H& LU (HeTereT.
(a) Fewp s oMlallwicy QLrmlERN W6 "BlepelsE Lbengu STTiIgFs" ererLIg alleTd:&HInMe QL TTULIFS U160 566Ts
(GIESRAEN
(b) R FeP&LD THTQ&HTETEBLD 2 L ey LNFEFFamens:@ Sie) &mesorLeng Liweruml () S,TmlFs GBMeHs10MeS
Q& TeooT(H 6ITETS .
(c) eIl STTUIEFR 6T6dT LIS HT6Y IQLU1LImLUN6VTeT ST MUIFF MHMILD S1SH60T (DI HEN6T 2 MMICHITEHSH6) V6V
uflGFmgement eLpeuld FflUMT&HS (LG U|LD.
(d) 9g iLenL srmiFRuley Qumerfler e Winmet IDGHLILT L& QFWIWw SLFTUIFRWTeTT ghoerCeal 2 6Tem
2 _GU0TENLNGH 6T 36DV G H86UVHEMETL LIW6TLR &S Geleuor(hLD.
Flwimer n&an&&HmaTs Ca5IHASH&S&]D.

A: (a), (b)and (d) only
a, b, LDMMILD d DL (HILD
B: (b),(c)and (d) only
b, ¢, LDMHMILD d L0 (HILD
C: (a), (c)and (d) only
a, ¢, DMMILD d L (HILD
D: (a), (b) and (c) only
a, b, LDMMILD ¢ L (HILD
6 Which among the following is the characteristics of Evaluation Research ?

LYetraupelestaummier G LILTH o rmiidF&uler S mUiNwev &6 e1g1?

A: Specified variable in qualitative terms
ST5H 60T g U1LemLuNev ML CiuC L iomadl
B: Process of developmental programming
QUETIER BlTeVTE S SH 60T Q& W6V (LNEMM
C: Non-Comprehensive Concept of Measurement
SlaTefl_ (&S MeT (WENWWMM SHHS S
D: Cost-benefit Analysis
QF6V6)-LIWLIET LIGLILIMUIe]
7 Survey of Related studies aims at .
QBTLFL 0L 3165 6fl6iT Het0rd Q&ML GBTE ST

A: Knowing facts about the existing problem
SHCUMTSI6TET LIT&F& emeoremLl LIMJILL 2_600TemLO&: 606 {6 G,
B: To test for logical coherence
BIE&FH WTET 55 en&F6|&a&Tear CFMEHemeT LIMMIWLS!.
C: Vagueness of the statement
)G e s uller Qg erflaileTemin.
D: Lack of knowledge and clarity
siffley wHob Qgerfley @eveumenio LMW S!.

8 refers to providing a magazine at no cost to readers who meet some specific set of advertiser - attractive criteria.
eTeTLIgl TIDUTSTI((HEHS FIH&HESF QW GMULNLL & &Ha6T LTSS QF WD aMFSTHEH5E GeVealFLnns
20 USHflensen aulphiGaens SMl&EH DS
A Controlled circulation
SLOUUBGSSLIULL aBCWTssLID
B: Uncontrolled circulation
SLGUUTLmm eNBlGWMssLD
C: Custom publishing
SeoflliLwesr USG5 60
D: Audit bureau of circulation
H6001 5605 2 avalens NBIGWIMELD
9

Signs that represent a thing itself and always bear some resemblance to the object to which they refer to are :

62D GILIMIHENET {S60T 2_(H6U S{eMLOLIL] LDMHMID &S HETenLn eLneuld GMI& G GMIui®H era?
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A: Iconic signs

GILILLE GMui® &6t
B: Indexical signs

GOWILE GMIui® &6
C: Messagage

QFWIH
D: Symbol

GG

10 enables the learner to gain autonomy and at the same time, to make use of mutually enriching forms of interdependence.
&HHMEIT&HET SeTarTl Fenwll QLMIAIMNS @) W6F QF IS, 268 CHISHH 60 LIFeuLTd Qanla,l G\ LImF Friy
Blen6v8emerLl LIWeTLQSH & Q& TeTer elnH &G &MHMmeV (LNemm 6157

A Blended learning
&H6VLIL] &HMMeL
B: Co-operative learning
& (D& HDHMEV
C: Self-learning
Gl &HMHM6L
D: Programmed learning
G LA LUl L s&smHmey
1 By whom was mass-line communication employed and coined ?

QUOGBHB TET QASTLIL (nemmenwLl LieTUGSSH WeUT MM SSMHESL QUL el wiry?

A: Mao Zedong

LDTGEF TSI
B: Karl - Marx
STV LDTIE 6N
C: Joseph Stalin
Gm&Ll 6uL_medlesr

D: Lenin
@ 6veofledr
12 Which among the following is not a 'cultural issues' under the mass communication ?

LN etTeu BeueTeumnilev 6781 Q16U G RQ60T H&HEUV QG TL LG 6T S 'GeumdaFmy LT eneorg 6T 2j606v.

A Globalization of content and flow.
2 @TeTL &0 LDMMILD L L HH 60T 2 608 L0UILDTESH 6D
B: Promoting the quality of cultural life.
SHOMTEEFTT MPEH&UN6T HI5Hm& CLLIOS SIS0
C: Effects on cultural and social identity.
SHEUITEF MY DMHMILD FeLNG 36D WITETSFH6V LG T6oT 6l 6166 &5 6iT
D: serving or resisting sources of power.
ARETT QSTIHEIHEHHS 'CFen6 QFUISHN VevS THTLILISI

13 A Milkman pays Rs. 6.40 per litre of milk. He adds water and sells the mixture at Rs. 8 per liter, there by making 37.5% profit. The proportion of water to milk
received by the customers is :
62 (B LIMeL e M LI 6OTWITET, 255 6 9L LI LITeW&S €1H.6.40 QFISSIRMITY. 26U &etoTeroien s CF IS S!, 56060660
O L(H&G 6.8/~ MR MITY. SIH60T eLNGVLD 37.5% VLD FLQYBMITY. 6UITLY.8 608 W TET I 6T G LIMILD & 600T6001 (585G LD
LIMeY&GLD 2 6Ter eGS0 6161666 ?

A: 1:8
1:8
B: 1:10
1:10
C: 1:12
1:12
D: 1:16
1:16
14 A sum of Rs 1550 is lent out into two parts one of 8% and another at 6%. If the total annual income is Rs 106, than the money lent at each rate is :

€M5.1550 6T60TM QG Men& @ (H LUGHWa LNP&SLULLG), 0 QFTend 8% aUL 196G (6 QHTeNS 6% UL 198 EGLD
QETHHHELILGRMSI. 21,600T(H &S €h.106 aUIBLOTETLD UBRM S 6Teofl6L RalQ UM AP SHH NI Q&THIE&HSELILIL L LIrLD.
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A': Money lent at 8% = Rs 650 ; Money lent at 6% = Rs 900
8% QU195 L Q& Tema = €I5.650;
6% U195 el L QG Temnd = e15.900

B: Money lent at 8% = Rs 600 ; Money lent at 6% = Rs 950
8% UL 1956 il L Q&Temns = e1p.600;
6% U195 AL L Q&Tend = €15.950

C: Money lent at 8% = Rs 500 ; Money lent at 6% = Rs 1050
8% UL 1965 L Q& Tens = e1h.500;
6% UL 195 el L Q5 Mend = eh.1050

D: Money lent at 8% = Rs 550 ; Money lent at 6% = Rs 1000

8% UL 195 L Q&Menss = e1B.550;
6% U195 el Q15 Mema = eh.1000

15 Which is the number that comes next in the sequence
2,6,12,20,?

2,6,12, 20, ? 66T QSTLl6v B\ S S GUIBLD 6T6UOT 6THI?

A: 24
24
B: 28
28
C: 30
30
D: 32
32
16 Three person are walking from a place A to another place B. Their speeds are in the ratio 5 : 3 : 4. Then the time ratio to reach B by these persons will be :

A eTedT @ LSS BHS B 6T60TM @)L SHM& el BLHS QFLR6Tm6oTT. 3j6UTo6rfleir CoudsmigseT 5:3:4 eTedrm & &5 H 60
2 66l 6Tevfl60 3jDeLpEIHLD B 6T60TM @)L GHe0S emL L 6T(HS S8 QG MeTEbhlh CHISH 6T el G0

A: 20:15:12
20:15:12
B: 15:12:20
15:12:20
C: 12:20:15
12:20:15
D: 12:24:36
12:24:36

17 If x : y=3 : 5 then the value of (3x+4y) : (5x+3y) is :
x:y=3:5 ereoflev (3x+4y) : (5x+3y) -@) 60T LOGLIL|

A: 26:31
26:31
B: 50:49
50:49
C: 29:30
29:30
D: 25:37
25:37
18 The sum of the income of A and B is more than that of C and D taken together. The sum of the incomes of A and C is the same as that of B and D taken together.

Moreover A earns half as much as the sum of the incomes of B and D.
Which of the following statement is not correct.

A LDMHMILD B 9,SCWIT6dr eUBLOTersSSH 6T Qg menss, C nmmilh D CFJH& eUMBIGLD eI(BLMTETS S il SH&HI0MEGLID. A
MOHMID C 2HCWTH6T aUBLOMETSH 60T QSTend B LoMMILD D GFIHS! 6UMHIGLD 6UBHLOMETSESH MES &b LGLWD. B ommih D
GFIHS! QUMMHIGLD QIBLOTETSH LITHen A FIDLTHSESH MT].

NetTau(pld nmmiserlev eTgl FlmeTgl 31606V ?

A A earns more than B

AeteTUeT B-g3 il 9B &0 FIOUTHEH My
B: B earns more than D

B eTedrLieU D-83 il S1H\ & 1D FIUTH &R T
C: C earns more than D

C eTedTLIeUT D-83 el SIH &0 FIUTH &R T
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D: B earns more than C

B eTedrLIeU C-23 el B\ &ID FIDLUTH SR MTF

19 Statements :
All books are cakes.
All cakes are apples.
Conclusions :
1. Some cakes are books
1I. No cake is books
II1. Some apple are books
IV. All apples are books
Choose the correct option :
T MMIGET: SNOTHSI LSS BIHEBLD Coh8 &HH6T.
DTS CH& G5 EHLD 2L 1L 66T
(WDIG.6S6ET: I: Flov G858 &6 LSS 8 MG 6T
II: 6T S @ CHHGSLD L|SHSHHLD §)6Vemo6v.
III: Fl6v L LILNGTGEHEIT LS55 MIGH6T E)6V6Mm6V.
(IV) : 3I6060TH B 24, ILN6THEBLD LGS & M6t
Frflwmer alBLLSmS CHTHOSH &&HLD.

A: OnlyI follows
Il GG WeTummith
B: Either I or II follows
I 916veu &l 1T LedTLimmith
C: OnlyIand III follows
I MHMID I L GG 6T Ui
D : Either Il or IV follows
1T 2j6LeuaI TV LesTLImHMILD

20 Given below are two arguments.
(I): A valid deductive argument that also has all true premises is called a sound argument
(IT): A strong inductive argument that has all true premises is called a cogent argument
In the light of the above statements, choose the most appropriate answer from the options given below

GEGLD @ TeroT(® UMHMBISHET QFHT(H & LILIL (H6TeTeoT.

I: S|6M6ETSH S 2_6UoTen LD WLITET (NG M G& METSH LD Q& mesor(B)6iTerT e & flwiment LNflESnuLD aUTSLDMeTSl b CHIHS UMD
SLD..

II: 96 6TE S 2_6T0T6MLOWITET (NG MH C&M6TEHEM6TULD G185 M6tor(H6TeT 62(IH EUEIAITET QG MTGHSSMIULD CUTSHLOMETSI 6(1H
2_MIGHWITET QUMD eTeoTLILI(HILD

BN &6 FnMMIS6rfledr LI, BCLY Q&TH &&LILIL G 6T all@BLiLBISGe e ®BHal &sea|h QUTHSSLI0Mareansd CHIHOS M.

A: BothI & II are correct
I LMHMID 1T &S W @ Fevor(GILD FiflwimeTeney.
B: Tis correct but II is not correct
I & lWmeTs o,60T M6 11 &l WITeTS! 2j606V
C: BothI & II are not correct
I HMID I & @ Fesor(GIh &Fiflumergl S6v6v.
D: Tisnot correct but II is correct

I & lWmeral jevev peormev 11 &iflwimera

21 Choose the correct Venn diagram for the following :
Dog, Animal, Pet.

etraumedestaummIm @& &iflwimesr Qlausdr euenILiLILSmnSsS CHTHCSH(H & &6 LD.
BT, efl6urhi, Q&eveull LIl meoof]

o

A:
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B: “ .
[AEZE) el
. Qyremf]
C:
D:

Animal

22 Which figure among the following is odd one out ?

LNetraumelesralmnilev 6TH& LIL LD QMBS S TS 60I6U?

A: :I

(A)
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B: D
(B)
(B)
C:
D:

23
The daily profits (in thousand rupees) of 100 shops are distributed as follows :

Daily Profits Number of shops

0-50 12
50-100 18
100-150 27
150 - 200 20
200 - 250 17
250 - 300 6

How many shops get daily profit below 100 (in thousand rupees) 2

100 semLsetilest Sleuraifl eumud (LuuN b errumulley) ebTeu(THLOMM):

Slestaifl eumud 565 S6IT65T eT6voTEtOT H:60185
0-50 12

50-100 18

100-150 27

150-200 20

200-250 17

250-300 6

TEHHENEIT H60IL&6T &leuTaifl eumuLd 100-8(&, (@ uITib epumufev) &ip 2 6iTsmg).

27

24 Which of the following is a two dimensional diagram ?
FECL Q&EMTEHLILm6eUSET6L @) (B LITILOIT60T & 6T 68 Te0T L 6M6 6T6m 6l 6T6uT Mg,

A Simple bar diagram
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ererflu LI 6mL auemyLIL LD

B: Rectangular diagram
QF6UAIS QIEMTLILLD
C: Multiple bar diagram
Leu&sL L LI LIL6emL euemFLILLD
D: Percentage bar diagram
alW&EsTH UL auemFLLLD
25 In classification, the data are arranged according to :
UMSLILIML 960 FT6Y&H6T @bHg euflen&F LG emn&&LILL B 6TeTSI.

A: Percentage
F5al&HgID

B: Difference
Geaumiim(h

C: Common characteristics

QLIS 6UITET LIGDOTL|&56T

D: Ratio
A& L0
26 Statistics may be defined as the of numerical data.

(a) Collection

(b) Presentation

(c) Analysis

(d) Interpretation

Choose the correct answer from the option given below:

LeTerfluglulev 6T60T LIS 6m60T 6T6OOTEF T &6 &5 6rfl 60T GT6OT GUEMIT LI MIG&HEVITLD.
(a) GEs1E 560

(b) 316l & & 6v(Presentation)

(¢) LGLILUMUIG] QFUIFH6

(d) eNlen&&LD 3y6rflEH S5 60

FEC O&EMO&sLILL 6T GsFesefladmha Fiflwmer allanL el C5FHOSH &S LD

A (a)and (b) only

(a) LbMILD (b) L (BHILD
B: (b)and (d) only

(b) DO DD (d) LD
C: (c)only

(c) LD

D: (a)and (b) and (c) and (d)
(a) LODILD (b) LLOHDILD (¢) LOHAILD (d)

27 : ; 5
Production in tonnes from 2000 to 2007 given below is an example of one of the

classification method. Identify it.
Year: 2000 2001 2002 2003 2004 2005 2006 2007
Production: 45 40 44 41 49 42 55 50

{in tonnes)

2000 W&6v 2007 suenyuiievmest 2_MHLGH) Letaemsd @m suensliu{h &81560 (Wenmuile b &S HSTLLTS
£C Q&M{H&H&IUL([HETETE). SHEMLITETLD HIT6Eurs.

i 6U(THLLD 2000 | 2001 | 2002 | 2003 | 2004 | 2005 | 2006 | 2007 |
2 Huss
‘ (Letrassiflsv)

45 40 44 41 49 42 55 50

A': Geographical classification

QLD &MY alensLILIHSSIH60
B: Chronological classification

SHMTeVLD &MY U6 & LILIMG &S H6V
C: Manifold classification

Levall auem&LILIM S SI%H6V
D: Logical classification

HI5HE & LILM HSHH60

28 | E-Governance ranking is based on :
(i) Telecommunication and Infrastructure Index
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(i) Human Capital Index.

(iii) Online Service Index

L 60T o1, EBen s Fralflend @) 56T QLI uleumers.
() QBMeMVS QSBMTLIL MM 2 &L Lol Gmlufik
(i) eof1s enevgerrd: Gmluih

(iii) @ emevorwaufl GFemet GMIuT@H.

GLpsevor_aummley Ffluwimests e1&1?

A: Only (i)
(i) LD
B: only (ii) and (iii)
(i) LOMMILD (iii) DL B
C: Only (i) and (iii)
(i) LnMMILD (iii) DL GO
D: (i), (ii) and (iii)
(i) (i) LHIILD (i)
29 The channel was dedicated to technical education and an initiative to virtually bring the audience to IIT classrooms.

smevalfleng QFTL60 BIL L H60el&a& e 3 FLIL60 &SI L Sl GLID @& LITTenel W meTi&HeneT IIT
AGLIL&EHHSG QUUIBI&T Wenmule) Q& mer(hlau@dLd WWMHE o@D,

A: ETV
ETV
B: Gyandarshan

Gyandarshan
C: Eklavya
Eklavya
D: HETV
HETV
30 Identify the correct choice from the following :

Assertion (A) : IaaS is one of a cloud service model.
Reason (R) : In aaS, the users are given access to hardware.

etraumedesraumnilev &iflwimereumenm sevorHLillg,
Ty : [aaS eTeOTLIG GLD& S &600f1emL0UIN6dT 62(H CFemal
SITI6uOTLD : [aaS &3 LIW6TLMISSILIGUT & 60T aUeTQUITHEm6T LIW6eTL(GSS enG Q&TH &L G ID.

A: Both (A) and (R) are true and R is the correct explanation of (A)
Fa MO LDHMILD STFevord Flwmeral, GLaLDd dxmnler Fiflwimet eflemd: LD &TFerTLd S, @GLD.
B: Both (A) and (R) are true but (R) is not the correct explanation of (A)
Fa MM LDMHMILD STI6evTD &FflWIMeTSl, S,60TM60 &6 LOMeTS Q&TO&&LILLL gammler Fiflwmer allerdsid G evene,
C: (A)is true but (R) is false
T FIfIWITETS S,60TT6V S ITI600TLD &6 MITETS
D: (A)is false but (R) is true
T HEUMITETS 6016V STI6torLd &FifllmeoTg)

31 Extranet is specifically intended for people the organization.
4w Nemevorwitd @& LILITS, [5]m161 60785 & 60T 2 666U TS EH& ST 6ULY 66L& LILIL (D 6T6TS!.

A working in
2 6TG6T Gauemey LIMIE S8 6 &mevor(h
B: inside
o 6T@er
C: extrain
F(h&HeVMH
D: outside
QeuerflGw

32 Identify the 4 - pillars of E-Governance
L 60T o, EB e DU GIT [ITEOT(S SIT6T0TSH 6T 6TemIEU?

A: People, Government, Business, Resources
ID&GET, 978, QS TIS6, UeT QLMD
B: People, Process, Technology, Resources

I8 56T, QFWEVMEHSLD, QG MS6LEIL LI, 66T QL& TTLD
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C: People, Government, Technology, Resources

IN&&6IT, 3JT&, QS TLHEVEIL LILD, 6U6T QL&D
D: People, Technology, Money, Schemes

D&&ET, Qe TSleLEIL LD, L6Tld, S L LD

3 What type of principal radiation emitted for 29y isotope in nuclear reactor ?
9lel 2 amevWiley LWeTUMSSLILGILD LieshLl GLMeoflwih G&FT GLITLI 6T[HS 616M&LITET (N&ETenLng &HFH Teidens
QauefMILQS SR MS?
A: oonly
a L GID
B: Bonly
B L (LD
C: aandp
a LDHMILD B
D: oand X-rays
o LnMMILD X &GH) 86T
34 Choose the correct statement (s) given below pertaining to International Solar Alliance (ISA).
Statement I : The ISA aims to unlock US 1 trillion in solar investments by 2030 through its 'Towards 1000' strategy.
Statement II : The ISA aims to active the sustainable Development Goals (SDG) especially in SDG 7 and SDG 13.
Statement IIT : The ISA was launched in 2015 by India and Germany at the COP 21 summit in Pairs.
FIaICsF GIfl F&H gnl Lewnll QETLILMES GG Q&MHI&E&LILL (BT FFlWTT gammisaneTs CHIHGSH & LD.
Famml 1: FFUCHEF Gl F&H5) Gl Leol], 315607 '1000 CHTHERW' 2 G5 eLn6vLh 2030-941D 21,6507 MG 6T Gl F&H5)
WSO 66 1 19.fl6V6N LIGHT LTVF&606TS BM&HS E)6V8 & 601615 SI6TETS!.
M 2: FIaUCHE Gl 565 snl el B19655 eUaTIFT &6 Mer @608 & &HmeT GUILILITG @ 606G 7 LDMHMID @)6V&HE 13—6060T
DL AUMG CBMTEHSHLOMGE Q& Tevor(H 6TeTS.
FnMml 3: 2015-3410 9b600T(H LIMflendl6L HemL QUMM COP21 2 F& oMBTL 160 @BHSHWIT LMD QegFefllme FFaGss Giflu
F&HD ol Lol QSTLMBISLIILILLSI.
A Statements I and III are correct
Famml 1 MM Famml 3-1b &Fifl
B: Statements I and II are correct
Famml 1 LMHMID Fammi 2-10 Fifl
C: Statement II and III are correct
Fadml 2 DHID FHm 3-1b &Fifl
D: Statement III only correct
Famm 3 LG &
35 What is the range of rainfall deficiency region to designate as moderate drought according to Indian Meteorological Department ?
@BES W eumetleney ayliedsiemmuieT L, Wgwmer euml & eretrm GMILILNHeusmHE& @ LILGSH U6y @)U evLIMeT Lol
LIMMTE & 6mmUI6dT eUTLDL]| 6T60T6oT?
A 26-50 %
26-50%
B: 20-50%
20-50%
C: 51-70%
51-70%
D: 10-25%
10-25%
36 What is the detectable sound frequency range for a human listner ?
06Tl & 785 6T 856007 LM U T LG UL 6260) SIF) [T Q161600 UITLDL| 6T60TE0T?
A: 10-1000 Hz
10-1000 Hz
B: 5-5000 Hz
5-5000 Hz
C: 20-20000 Hz
20 -20000 Hz
D: None of the above
6T8I6]|LD 2]6L6V
37 Which of the following is a source of discharge in methane gas emission to the atmosphere ?

LGS TEVID 6TEUEIM S IS TTLOM6TS a6 neuTLeusFH 6V L5 ES 6T el QeueflGUMMESH M &S ST nmHMmSI?
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A: Cement plants
F Q6T QMM FTeneuss 6T
B: Burning of fossil fuels
LensLigel T QU@L gener 6Tif15 560
C: Rice cultivation
QB6L FMGLILY
D : Use of fertilizers
2 Jigerflesr LiwesTUIm(
38 Given below are the statements related to objectives of Higher Education. Choose the correct option.
Statement I : To provide society with incompetent men and women, trained in agriculture, arts, medicine, science with a sense of social purpose.

Statement II : To strive to promote inequality and cultural differences through diffusion of education.
Options :
2 Wis6alluileT GBITEH:EGMBIGET QGITLITLITET aUM&HSR WnhI&6T 6D Q&TH G LILL G 6Tarer. &Fiflwimer ellLiLSCS Tel e eor
CaIHESHSHHLD.
QAUMGGRWILD I: Feps CHMTEHHSSIL 6T elleusmuLd, &6y, @B SIeun,  mlallwe & weammle LulHR Qubm Hmenwwibm
21,600T&60)6IT | LD QILIGTITEHEMET LD FeNG: ST M@ 6ULDMHIS 560
QMGG WD II: Hevallulled eeuld FLngSiauLA6TenD IDMHMMILD HEVTESFTT CeumiLmbH &enerT a8 &aillé s LIMH LG &6
aNBLILSCSHT6SH6T:
A: Both Statement I and Statement II are correct
QMGG WD I InMHMILD eIM&SGIWLD I G Fevor(hLd &FiflwimesTen el
B : Both Statement I and Statement II are incorrect
QMGG WD I LDHMILD eSS 11 E) Fevor(HLD &6 M TeoTen 6l
C: Statement I is correct but Statement II is incorrect
QUMTEHGWLD [ FIfIWITEITSI SL60TT6L aUMEHGRWILD 11 HeUMTeoTSI
D: Statement I is incorrect but Statement II is correct
QTSGR [ HEUMITEOTS! 60TMT6V aUMEGWILD 1T &l ulmersl
39 In Higher Education, National Knowledge Commission recommendations have focussed on three key aspects of Expansion. Excellence and
CsAW siMla] Waesawme Uflbaiengsasliul L 2 Wi sevalluller epnerm (&G W SibFkisermalsr allflaimssin Q&UIs56,
ALy CFIsH6v DMHMILD
A Vocationalisation
Qs M6y LWILDMTE &6
B: Employability
GauemevaumUILIL] QLIMIG 6V
C: Inclusion
2 _6TeTL & &0
D: Innovation
LSl LSS SIS6)

40 Three major themes emphasised by Indian value educators in the 50 years of post-Independence era.
a. Nostalgic view that continually emphasises the rich Indian civilisation and culture.
b. emphasis on Gandhism
c. emphasis on Globalisation
d. promotion of Indian National unity and secularism
Choose the correct answer from the options given below.

&FSHHTSHDHGSLD LNHens W 50 aye0or(H)&6rlev @ BHHW LHIL|E 860l WIMETTE6TTeV 6Ued W mISSLUILIL L et (&S &HLI
QUMTHETSHET.

(a) LI6DOTE&MT @B W HMT&FlSEMD HMID HTFFTTISHMS QFSTLIHS 6U6dWMISSILD Bl 6aralemney LIMFene.

(b) STHEHWSHHS WSS WSSIaLD

(c) 2_6VHLDWIDTH NG G (N&HH WS SI6ILD

d) @B W CHRAW prhmienin LDMHMID In&F FMFLIeTemnenl CLLG S SIS60.

Fiflwumer eflemLenw Q5fla] Q&FIss.

A: a,b,andconly

a, b, LDMHMILD ¢ DL (HLD
B: a,canddonly

a, ¢, DMMILD d L (HLD
C: a,banddonly

a, b, DMMILD d L (HILD
D: b,candd only

b, ¢, LDHMID d WL GID

41 Creation of and biosphere reserves started in 1986 in India.
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WHMID 2 uNFECHTeTs: &TLILIS M6 60T 2_(heumsaid 1986860 @HHWIMalleh Q&ML BISLILIL LS.

A: Zoos
2 uNFlwey L, MhI&sMme &6
B: National parks
GHHAWILI LLMBISTE 86T
C: Forests
SHTH\&6T
D: Reservoirs
BI& 6555 MIG&6T
42 "To state one's aim of education is to state his educational values". Was proposed by

"e(HeU 60T SeveNUN 6T CBITE S S 6058 TnMIGUG 6T60T LIS {6U[HEM LI Sevedl m@uuasemmsa FnMIGUGTGLD 6T60TMI
WeTQLMSBHseaur

A': Ralph Barsodi
Tmeull LITFGFmIq
B: I.S. Brubacher
I.S. Uemugsy
C: Bertral russel
QUILJ6V [F6rV6ruev
D: Perry
@uirl
43 The full form of CABE is
CABE —@)60T (LW 6UL.6ILD

A Central Advisory Board of Excellence
Central Advisory Board of Excellence

B: Central Accrediation Board of Excellence
Central Accrediation Board of Excellence

C: Central Advisory Board of Education
Central Advisory Board of Education

D: Central Accrediation Board of Education

Central Accrediation Board of Education

44 was appointed as a chairman of the Secondary Education on 1952.
@ eLBleneus sevallulledr &eaeualTme 1958 —60 B &SI LIT.

A: AN.Basu
A.N. UMT&r
B: D.S. Kothari
D.S. Gas s i
C: A.Lakshmanswami Hudaliar

A. evL_grLnevorgmill (Wn&eSlwimy
D: A.Radhakrishnan

A. TS TS (15 619 600T 60T

45 The commission which determines and coordinates the standards of teaching, examination and research in Universities is
LI&E6&snamIS6 &HLS5 560, Ca e LHMID SLTMUEFS L8 welmmleT &g en 6T r_r‘ﬂUamruﬁ]sa@LD WMHmID
62 (15 1 59 610 600T 85 (& LD 2,600 600T LLILD 2G1D,

A: NCERT
NCERT
B: NCTE
NCTE
C: UGC
UGC
D: AICTE
AICTE

Case Study from Question No. 46 to Question No. 50

Comprehension :
Fried Fish
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Mr. and Mrs. Joban lived on the coast with their two children, Abel and Irene. They were fisher folk. Mr. Joban would take out his boat along with his two
friends, who also brought their own boats. They would be out at sea most of the night. By morning, Mr. Joban and friends would come back with their catch.
Mr. Joban managed to get enough fish for sale daily and thanked God for it. He also brought home enough fish for the family to eat. He always told his children
that the fish was the gift of God.

Abel loved the fish his mom prepared for lunch and dinner, especially fried fish. So, one day, he asked his papa why God did not fill the ocean with fried fish
instead of just fish. That would, he said, make mom's work easier. His parents laughed, but Abel prayed daily for the ocean to be full of fried fish so that, his
mom's work would become easy and he could have as much fish as he wanted.

A few days later, Mr. Joban and other fisher folk went out to sea and fished the whole night. When Mr. Joban emptied his boat in the morning, he found to his
shock that his catch was all fried fish. He was excited and his stock was sold out before he could imagine. But after a few days, he found no takers for his fried
fish. People said that they wanted fresh fish to cook according to their liking. Joban earned nothing in the days that followed. He was becoming desperate.
Learning about Joban's problem, an old fisherman visited him and said, "God gives us everything. He gives us grass, plants and trees of all types for our use. He
gives fish in the water that we may catch. He gives us water to be used in any way. At the sometime, he has given us the intelligence to use the gifts in any good
and useful way. But God hardly gives finished products". It was a great lesson for Abel.

yrlgev:

Fried Fish

H (@ OHMID HHLOG CLITLIET &higG6T @ T6roT(h) GLLHENSHETTET 2LCLIG LnMMILD Bfel 6T HLM&EMT ABH 6 aF &
QUBSETT. SeUTGHET L60To D& GHET. H([H CRTLIET HeoTgl &) 7600T(H [H600T LTS EBHL 60T H6oT&l LIL 6L QeueflGul Qaevaui,
I|QUTSHEBLD FBEIGET QFTHS LIL (G 56M6Ts Q& Teor(h elBeaUTI&H6T. @ralleh QLBLOLITaILD SieT&H6T &LeCnGW
@GBLILUTTSET. &Teneuuile, H(H G [H600TLITSHEHLD SMTHhI&6T L1955 L5608 6hL60T S (BN eUheuUTI&H6T. H([H GITLITeT
FeoTLOLD HeoTE! GBI UL BL GG CLIMSILDTET LE6TEH 66T QLM (LIHSHS!, ASMEHTEH &L 6EH&H G BT Q& e s H erT.
GO WU FrmillL GUMGInmeT LSeTsemeTuh euf e 19M @& Q& mevor(® eubST. LT &L eyerfler Liflar eTedray oj6ury
GTLIGLIMGILD H60TSl GLoHen S 6L LD FomleorTi.

21,GLIGL HEUTGI SJIDIOIT DG W 2_6voTe) IDMHMID @ T6] 2 eoorallM@& SWMiflgs 16T, GMILILING auMiSs 5T CHRSSTT. eTerrCa,
QR(BBITET, D6U6IT S60T LIS LD, &L_6)6T g6iT HLemev Qlaumild L6T&HETT6V BT LILIaISMHEGL LIS 6VTH aIMiSs 56T 6Ty
BrliLefNeueney eTedTml CaL L M6, 215 S bLomailer Galeaneuen L 6T6lflHMah G LD 6TiTMI 26U6DT Fn (60T TEIT. | 6UEDI ML LL
QUMBMTT AAGHTIHET, 26TV 2,CLIEL HlTLD &L 6960 UMIGS LT60TE 6T BlemmHE) (H&H 8 CeuesoT(H)LD 6T6dTmI G6UewoTIq 8
Q& 60T L_IT6IT, DS E0TIT6V D aUsnlem L hinmeler Geuemev etaflgsmHeNBID, 66T B LD 6Te|dHE LT HemL_& @G0
GTEOTLISI 61 63T 6T600T600TLD.

Flev BTL&EBHGL LNM&S, B[ CRMUSILD MM L6TEUFSHEBLD &L IGHGEF QF6Tm @T6] L(Weugil TN Gs6ary. @k

G MLIMET &HTemevuiley FeoT&l LILend &Medl QFWLSEUNS!, 36l L1955 L6TH6T emeTS SN eumIS S LS60TS 6T 6T60TLIEN S &
&H600T(H) G TFAWENLBSTT. 36U 2 HFTHLOTETTH. 6UJ &ML QFUISNHE (NTCL Sjaurg WeTas6r ellmmisg

BT HS60T. 2,601 M6V Flev BITLHEH&HG L1 LIMG, HeUTS aUMISS L56OTEHEMET QUMMEISG WITIHLD HenL&86ei60606V. D& E6T &hIG6T
af@LuliLg LEHW LS6eTEHem6T Fenndss all(BLDLeUSMTEHS Famler]. M SH5DHHS BT &6l GQITLIMTET 660TmILN

FOUTH &Sm0, GRMLITET L& 6D &6160) 6V BT

Garumesfler LIgFFemeTemnl MBS 626 UG TET LT elen & FhHH SS!, "GLA|6T [5L08E 6T6V6VITEUMEM MU|LD
SMHAMTT. HLOLNED L LIW6TUTL I M&TSH SiaUT BN L6V, QFLY, Q&TIYG6T, IDJBISET & WalhHanme Q&THSH M.
B L9 &8 S evorenol 6L LTS emeTs: Q&THEGHMTH. 6TLILIQUIMaIG LIW6T LM SH S Q& TeTers C& 606 WIT6OT & 600T600160) [
&GS Q&ETHGER M. Fev GRS, @hs Liflagsemar LilssieTer mevev aufluiley LiuledrLi(h & Sieu s m o meot
LSHFMeN 5565 S el BLosEGE QHTHISSIETETTH. OL60TT6V &6 6T LTSS WM QUITHL &H606MEH QaTGHLLS Sflg"
GTETM. @S SLCLIMNIEE @@ QUIfIW LIMLLOMS (DB S!.

46 What was the occupation of Mr. Joban and his friends ?
B (B CLMLITET MHMID 3|6 H6vorLITaerfler Qg musley eTedTeor?

A: Fruit sellers
up elwruriflgser
B: Flower sellers
u, eflhLieujss et
C: Fishing
1SeorLIg.
D: Bangle Sellers
alememwey el MLIT& 6T
47 What did Abel pray daily ?
21,8LI6L BleornLd eredrenr LT TS &Hemett Q& ISTT?

A: Abel prayed for the ocean to be full of fried potatoes.
AMIGS 2 ([HEMETEHGR PG &L 6960 BlenmbH (He CalstoT(hLD 6TedTmi oy, CLIG LITTIS S e QFWISTT.
B: Abel prayed for the ocean to be full of fried fish.
QMGG LSETHETTEV L6V BlenmEH (HoeH Geuetor(hLd 6TedTm SCLI LNITTIHSeme QEFWISTH.
C: Abel prayed for the ocean to be full of Seashells.
HL (WeaugID ReflEhae & BlenmbSH B CaustoT(h LD eTetrmi 9LCLIG LNITTISS 6T Q&WST.
D: Abel prayed for the ocean to be full of fishing boats.
56T LIL G &ETITEL &6V BlemmbH) (H&S Cauetor(hilh eTedTml o1,GLIeV LT TS SHem6T Q&FWIGSTH.
48 What shocked Mr. Joban ?
BB CRTUMET B TER &GETTTER WS 61517

A His catch was all fresh fish.
ey N9 &5 6TEH6T 2emars S LG W LE6TE6T.

B : His catch was all seashells.
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50

auf L9 55 L56TH6T SemersSIh &L HA LN G&aT.
C: His catch was empty.

gleuf LY &G LO6T HTedWns: @ BhHHS!.
D : His catch was all fried fish.

6auf N9 55 L86THET I eMeTSSID eUMIGS LTS 6T.
Why did Joban become desperate ?
GTLIM6T 66T HLOLN G &BUNLPHSTT?

A Nobody to buy his fish
I16UTSI L56OTEH6M6T QUITMEIS WITIHLD &) 6L6m6y
B: Nobody to buy fried fish
QMGG LSET QUIMMHIS WITIHLD E)6V6m6V
C: Nobody to pray
NomTigsemen Q&UIW WTHLD &) evemev
D: Nobody to be his friend
WITIHLD S{6UEBI6TIL_LLI [F600TLICOT TS G)6V6m6V.
Why did Abel pray for fried fish ?
21,CLI 6T UMIGS LeDIHE TS QGLILD QFWSTH?

A': He wanted to please his mom

2|6U6T »jIbnmen el & peil& e 6l (LD LI eormedT
B: He wanted to please his papa

S|6U6T G60T LILMemal n&Lpellg s el @BLbLIleoT et
C: He wanted to make his mom's work easy

S|hLnmelledr GeuenevemLl S-6VLILNMTE & 6l (HLDLI 6o medr
D: He wanted to help his papa

SJLILIME| GG 2 561 GaleuoT(hLD 6TedTmI [ 616015 S MeoT
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